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क¢ा- 9 ͪवषय- वाͨणÏय- 
बहȣ खाता तथा लेखा शाèğ के 
त×व 

समय- 2 घंटा  पूणाɍक- 40  

 
सामाÛय Ǔनदȶश : -  

 
 कुल 40 Ĥæन हɇ।  

 सभी Ĥæनɉ के उƣर अǓनवाय[ हɇ। 
 Ĥ×येक Ĥæन के ͧलए एक अंक Ǔनधा[ǐरत है। 

 Ĥ×येक Ĥæन के चार ͪवकãप Ǒदए गए हɇ। सहȣ ͪवकãप का चयन कȧिजये। 
 गलत उƣर के ͧलए कोई अंक नहȣं काटे जाएंगे। 

 

Q1.चालू संपͪƣयɉ के उदाहरण है -Examples of current assets is /are:    (a) रोकड़ (Cash)    (b) अǓंतम रहǓतया (Closing Stock)   
(c) देनदार (Debtor)   (d) इनमɅ सभी (All of these) 

Q2.अèथायी (वत[मान) दाǓय×व नहȣं है-__ .|___.is not a Current Liability: 

(a) देनदारो Debtors                        (b) देय ǒबल Bills Payable   

(c) बकाया  ͩकराया Outstanding Rent        (d) लेनदार Creditors 

Q3Ǔनयम "सभी åययɉ व हाǓनयɉ को नाम तथा सभी आयɉ एवं लाभɉ को जमा" सàबिÛधत है (The rule 'debit all expenses 

and losses and credit all incomes and gains relates to): 

(a.) åयिÈतगत खाता (Personal Account) 

(b) नाममाğ खाता (Nominal Account) 

(c) वाèतͪवक खाता (Real Account)      (d) इनमɅ स ेकोई नहȣं (None of these) 

Q4.इनमɅ स ेकौन सा था कथन स×य है. Which of these statement is true       

(a)लेखांकन एक ͪव£ान ंहै(Accounting is Science )  (b)लखेाकंन एक पेशा है (Accounting is  a Profession)     (c)लखेाकंन एक 
कला है (Accounting is  an Art )     (d) उपरोÈत सभीAll of these 

Q5. Ǔनàनͧलͨखत मɅ स ेसभी लखेांकन के काय[ हɇ ͧसवाय (All of the following are the functions of accounting except:)                                                  
(a) पǐरमापांकन (Measurement)  (b) Ǔनण[यन (Decision-making)(c) पूवा[नमुान (Forecasting) 

(d) खतौनी (Posting) 

Q6.ͪवƣीय वष[ के अÛत मɅ ₹2,00,000 मãूय का माल बेचन ेके बाद ₹ 10,000 का अिÛतम हǓतया था। यह है (At the end of the 
financial year after sale of goods worth ₹2,00,000 there was a closing stock of ₹ 10,000. This  is) : (a) एक घटना (An 
event) (b) लेन-देन (Transaction)    (c) दोनɉ (Both)      (d) इनमɅ स ेकोई नहȣं (None of these) 

Q7..यǑद फम[ को  ͩकसी åयिÈत को धन वापस देना है,  ____ कहलाता है (A person to whom money is owed by a firm is 
called): 



(a) देनदार(Debtor)   (b) लेनदार (Creditor)    (c) आपूǓत[कता[ (Supplier)    (d) ͪवĐेता (Seller ) 

Q8.Đेͫडट का अथ[ है (Meaning of Credit is) : 

(a) उसके ͧलए देय (Due for that)         (b) उसको देय (Due to that)             (c) (a)और(b) दोनɉ [(Both (a) and (b)] 

(d) इनमɅ स ेकोई नहȣं (None of these)  

Q9.Ǔनàनͧलͨखत मɅ स ेकौन तरल  सàपͪƣ है? (Which of the following is a LIQUID assets):  

(a) भवन (Building)      (b) भूͧम (Land)       (c) पूव[दƣ åयय (Prepaid Expenses)    (d)रोकड़ (Cash ) 

.Q10.सामाÛयतः आगम का लेखा उस समय ͩकया जाता है जब (Revenue is generally recognized when) : 

(a) उ×पादन पूण[ होता है (Production is completed) 

(b) जब वèत ुका आदेश ĤाÜत होता है (Order for goods is received) 

(c) जब वèतु कȧ सुपुद[गी दȣ जाती है (Goods are delivered)   

(d) जब वèत ुका मूãय ĤाÜत होता है (Cash is received) 

Q11.ͩकस अवधारणा के अनुसार उन लेन-देनɉ को, िजÛहɅ मġुा के Ǿप मɅ åयÈत ͩकया जा सकता है, लेखा पुèतकɉ मɅ अͧभलेͨ खत ͩकया जाना 
चाǑहए? (Which concept requires that those transactions which can be expressed in terms of money should be recorded 
in the books of account? 

a) åयावसाǓयक इकाई (Business entity)        (b) मुġा कȧ माप (Money measurement) 

(c) ɮͪव-पहलू अवधारणा (Dual Aspect)         (d) इनमɅ से कोई नहȣं (None of these) 

Q12.उपाज[न कȧ अवधारणा आधाǐरत है (Accrual concept is based on) : 

(a) ɮͪव-पहल ूअवधारणा पर (Dual aspect concept)            (b) लागत अवधारणा पर (Cost concept )     (c) ͧमलान अवधारणा 
पर (Matching concept)                 (d) इनमɅ स ेकोई नहȣं (None of these) 

Q13.लेखांकन समीकरण______ पर आधाǐरत है (Accounting equations is based on _____. 

(a) चालू åयवसाय सàबÛधी अवधारणा (Going concern concept) 

(b) ɮͪवप¢ीय अवधारणा (Dual aspect concept)  

(c) मġुा मापन अवधारणा (Money measurement concept) 

(d) ये सभी (All of these) 

Q14.åयापार के èवामी ɮवारा अपने पुğ के ͧलए åयापर से रोकड़ Ǔनकल  èमाट[ फोन  खरȣदा गया इससे रोकड़ मɅ कमी आयेगी और ____ मɅ 
कमी होगी। The effect of purchased of Smartphone for the son by the owner from the busines will be- decrease in cash 
and decrease in______. 

(a) रोकड़ (Cash)  (b) पूँजी (Capital)   (c) आहरण (Drawings)  (d) सàपͪƣ (Asset ) 

Q15.उधार फनȸचर खरȣदने पर सàपͪƣ बढ़ती है और दाǓय×व ___मɅ होती है। (Furniture purchased on credit will increase asset 
and liabilities will___ 

(a) वɮृͬध (Increase)            (b) कमी (Decrease) 

(c) कोई Ĥभाव नहȣं (No effect)    (d) इनमɅ से कोई नहȣं (None of these) 

Q16.भवन खाता____ सàबिÛधत है (Building A/c is related to) :  

(a) वैयिÈतक खात ेस े(Personal A/c )    (b) वाèतͪवक खाते से (Real A/c ) 



(c) नाममाğ खाते से (Nominal A/c)       (d) इनमɅ से कोई नहȣं (None of these) 

Q17.आधुǓनक वगȸकरण के अनसुार खातो को ͩकतन ेभागो मɅ बाटँा गया है.(According to modern classification how many types of 
accounts are thereѮѯѰѱ 

(a) दो  Two (b) तीन Three   (c)चार Four   (d) पांच Five 

Q18 Ǔनàन मद को Ǔनàन के अÛतग[त वगȸकृत कȧिजए (Classify each  items under) : 

लेनदार (Creditors):- 

(a) आगम (Revenue) (c) पूँजी (Capital) (b) åयय (Expenditure) (d) दाǓय×व (Liability) 

Q19.वे ĤािÜतयां जो सामाÛय åयावसाͧसक गǓतͪवͬधयो से ĤाÜत होती है (The receipts received from normal business operation is 
called :  (a)कुल ĤािÜतयाँ (total receipts)   (b) पूंजीगत ĤािÜतयाँ (Capital receipts)    (c) आयगत  ĤािÜतया ँ(Revenue receipts)   
(d) इनमɅ कोई नहȣ ं(None of these) 

Q20. वेतन खाता, ͩकराया खाता, Þयाज खाता, मजदरूȣ खाता, आǑद -ये  ____ के उदहारण हɇ |Salary account ,Rent A/c ,Interest A/c, 
Wages A/c are examples of ______. 

(a) वाèतͪवक खाता (Real Account)   (b) पूंजीगत खाते(Capital Account )  (c) अवाèतͪवक खाता (Nominal Account)   (d) åयय 
खात े(Expense A/c) 

Q21.åयय खातɉ का _____शेष नहȣं हो सकता .(Expenses a/c cannot have _______ balance.) 

(a)Đेͫडट(Credit)   (b)डेǒबट(Debit )    (c)समान( Equal )   (d)इनमे से कोई नहȣं (none of these) 

Q22.खाताबहȣ मÉुयतः _____के Ǿप से जानी जाती है.(Ledger Book is popularly known as ___) 

(a)खातɉ का मुÉय बहȣ (Principal Book of Accounts)      (b)खातɉ का अĤधान बहȣ (Secondary Book of Accounts) 

(c)खातɉ का सहायक बहȣ Subsidiary Book of Accounts      (d) )इनमे से कोई नहȣं (none of these) 

Q23. जन[ल स ेͩकसी खाता मɅ लेन-देनɉ को ͧलखने कȧ ĤͩĐया को कहा जाता है (The process of entering the 

transaction  from Journal in an account is called): 

(a) शेष Ǔनकालना (Balancing )              (b) जन[लाइिजंग (Journalising)                                                            (c) जोड़ लगाना 
(Casting)                        (d) खतौनी (Posting) 
 

 Q24. ͪवͪवध åययɉ का खाता मɅ सामाÛयतः होता है (The miscellaneous expenses account is likely to have) : 

(a) ͧसफ[  डेǒबट Ĥͪविçटयाँ (Only debit entries  )   (b) ͧसफ[  Đेͫडट Ĥͪविçटयाँ (Only credit entries)     (c) उपरोÈत दोनɉ 
(Both the above)      (d) इनमɅ से कोई नहȣं (None of these) 

Q25. बɪटा खाता का हमेशा होता है (The Discount Account always has) : 

(a) ͧसफ[  नाम शेष (Only debit balance) (b) ͧसफ[  जमा शषे (Only credit balance) 

(c) शूÛय शेष (Nil balance)                      (d) नाम या जमा शेष (Debit or credit balance) 

Q26. बɇक खाते का शेष इंͬगत करता है (The debit balance in bank account indicates) : 

(a) बɇक को देय रकम (Amount payable to the bank) 

(b) बɇक ɮवारा Ǒदया गया ऋण (Loan given by the bank)                                                                               (c) बɇक मɅ रोकड़ 
शेष (Cash balance in the bank)                         (d) इनमɅ से कोई नहȣं (None of these) 



Q27.. रोकड़ पुèतक के रोकड़ खाने  का शेष _____ सदैव होता है। (The balance of Cash column of Cash Book is  
always.......) 
(a) डेǒबट (Debit)   (b) Đेͫडट (Credit)    (c) समान (Equal)          (d) इनमɅ से कोई नहȣं (None of these), 

Q28. ĤǓत Ĥͪविçटयाँ______"बहȣ मɅ कȧ जाती है। (Contra Entries are made in ______book..) 

(a) रोकड़ एवं बɇक èतàभ वालȣ रोकड़ बहȣ मɅ (Cash book with cash and Bank column) 

(b) रोकड़ एवं छूट èतàभ वालȣ रोकड़ बहȣ मɅ (Cash book with cash and discount coloumn) 

(c) बɇक एव ंछूट èतàभ वालȣ रोकड़ बहȣ मɅ (Cash book with bank and discount column)     

(d) इनमɅ से सभी (All of these) 
 

Q29. रोकड़ बहȣ एक _______'पुèतक है। (Cash book is a_____) 

(a) Ĥधान पुèतक (Main book)        (b) सहायक पèुतक (Subaidiary book) 

(c) èमारक पुèतक(Memorandum  Book)   (d) ये सभी (All of these)  

Q30. रोकड़ बहȣ Ĥारिàभक लेखे के साथ_____'खाता भी है।(Cash book is an original record as well as a ledger for 
_____account.) 

(a) बɇक(Bank )                  (b) रोकड़ (Cash)      (c) पूँजी (Capital)      (d) इनमɅ से कोई नहȣं (None of these) 
 

Q31.रोकड़ बहȣ _______का एक ĤाǾप है (Cash book is a form of) : 

(a) तलपट (Trial balance)        (b) खाताबहȣ (Ledger)  (c)रोजनामचा (Journal)           (d) उपरोÈत सभी (All of the above) 

Q32. तलपट के शेषɉ स े_____खाते तैयार ͩकये जाते हɇ।(_____ Accounts are prepared by the Trial 
Balance.) : 

(a) åयिÈतगत (Personal) (b) ıास (Depreciation) (c) अिÛतम (Final) 

(d) इनमɅ से कोई नहȣं (None of these) 

Q33. यǑद तलपट के दोनɉ प¢ɉ का योग ͧमलान नहȣं पाता है तो अÛतर कȧ राͧश को "हèताÛतǐरत कर Ǒदया जाता 
है। (If there is no agreement of two sides of trial balance the difference is transfer to 
________Account. 

(a) लाभ-हाǓन खाता मɅ (Profit & Loss A/c)                 (b) आͬथ[क ͬचɪठे मɅ (Balance Sheet). 

(c) उचÛत खाते मɅ (Suspense A/c )                              (d) इनमɅ से कोई नहȣं (None of these) 

Q34.बचेे गए माल कȧ लागत कȧ जानकारȣ  दे  दȣ जाने  पर तलपट मɅ_____रहǓतया  नहȣं ͧलखा जाता है (If the 
cost of goods sold is given ..stock is not appeared.) : 

(a) अिÛतम (Closing )                                                (b) Ĥारिàभक तथा अिÛतम  (Opening and Closing )                

 (c) Ĥारिàभक (Opening)                                             (d) इनमɅ से कोई नहȣं (None of these) 

Q35.तलपट "सàबÛधी शुɮधता कȧ जाँच करने के ͧलए बनाया जाता है। (Trial Balance prepared to check the 
_______accuracy of book.): 

 (a) गͨणतीय (Arithmetical)           (b) ͪवƣीय (Financial) 

(c) a और b दोनɉ (both a and b)      (d) इनमɅ से कोई नहȣं (None of these). 

Q36.तलपट कȧ ͪवशेषताएँ हɇ (Features of Trial Balance are) : 

 (a) यह अिÛतम खाते तैयार करने का आधार है (It is the basis for preparing final accounts) 

 (b) यह खातɉ का सार है (It is summary of accounts) 

 (c) यह अकंगͨणतीय शɮुधता का Ĥमाण है (It is an evidence of arithmetic accuracy) 



(d) उपरोÈत सभी (All of the above) 

Q37..एक अवधारणा ͩक एक åयावसाǓयक उपĐम Ǔनकट भͪवçय मɅ न तो बचेी जायेगी या ͪवघǑटत होगी, कहलाती है (A concept  that a 
business enterprise will not be sold or liquidated in the near future, is known as): 

(a) चालू åयवसाय (Going Concern) ((b) åयवसाय कȧ पथृक इकाई (Separate Unit of Business) 

(c) मौǑġक इकाई (Monetary Unit)   (d) इनमɅ से कोई नहȣं (None of these) 

Q38.अदƣ åययɉ को वष[ के अÛत मɅ लाभ-हाǓन खाते मɅ ͩकस ͧसɮधाÛत के अनसुार शाͧमल ͩकया जाता है? (Outstanding expenses is 
included in Profit & Loss A/c at the end of the year according to which concept ?) 

(a) ͧमलान अवधारणा (Matching concept) (b) पूण[ Ĥकटȣकरण अवधारणा (Full disclosure concept) 

(c) उपाज[न अवधारणा (Accrual concept) (d) चालू िèथǓत कȧ अवधारणा (Going concern concept). 

Q39.आयकर अͬधǓनयम के अनसुार लखेांकन अवͬध होती है (As per Income Tax Act, accounting period is) : 

(a) 1 जनवरȣ स े31 Ǒदसàबर तक (From 1st Jan. to 31st Dec.) 

(b) 1 अĤैल स े31 माच[ तक (From 1st April to 31st March) 

(c) 1 जुलाई से 30 जून तक (From 1st July to 30th June) 

(d) 1 अÈटूबर से 30 ͧसतàबर तक (From 1st Oct, to 30th Sept.) 

Q40, जीएसटȣ का अथ[ है (GST Stands for) :  

(a) सरकार एवं राÏय कर (Government and State Tax)  

b) वèतु एव ंसेवा कर (Goods and Services Tax) 

(c) गुजरात राÏय कर (Gujrat State Tax)  

(d) वèतु आपूǓत[ कर (Goods Supply Tax) 
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PART- 'A' (Elements of Business) 

(The services of wholesalers are not meant?)  

 (A) QqVdj O;kikfj;ksa ds fy, (For Retailers)  

 (B) mRikndksa ds fy, (For Producers) 

 (C) miHkksDrkvksa ds fy, (For Consumers) 

 (D) buesa ls dksbZ ugha (None of these) 

(The cost of goods in supermarket is) :  

 (A) de (Low)   (B) vR;f/kd (Highest) 

 (C) lkekU; (Reasonable) (D) buesa ls dksbZ ugha (None of these) 



(In which economic activity income is earned by satisfying the 

employer?)  

 (A) O;olk; (Business)   (B) jkstxkj (Employment) 

 (C) is'kk (Profession)   (D) O;kikj (Trade) 

(Which point is not related with the role of profit in business?)  

 (A) yEcs le; rd thfor jgus ds fy, (Long survival)  

 (B) jkstxkj miyC/k djuk (Employment generation) 

 (C) vfr 'kh?kz fodkl ds fy, (Rapid growth) 

 (D) dq'kyrk of̀) ds fy, (Skill development) 

("Risk may be defined as uncertainty in regard to cost loss or 

damage." This statement is of):   

 (A) gohyj (Wheeler)  (B) Mªdj (Drucker) 

 (C) gkMsZ (Hardy)   (D) esgrk (Mehta) 

(Business is) :

 (A) dyk (Art)   (B) foKku (Science) 

 (C) nksuksa (Both)   (D) buesa ls dksbZ ugha (None of these) 

(In which type of economic activity income is earned through 

people?)  

 (A) O;olk; (Business)  (B) is'kk (Profession) 

 (C) jkstxkj (Employment) (D) bueas ls dksbZ ugha (None of these) 



(A retailer sells goods to) :  

 (A) miHkksDrkvksa dk (Consumers) (B) mRikndksa dk (Producers) 

 (C) Fkksd O;kikfj;ksa dk (Wholesalers) 

 (D) ljdkj dk (Government) 

(First consumer co-operative store was established in?)  

 (A) 1947  (B) 1857  (C) 1844  (D) 1844  

(In which of the following countries did departmental stores 

originate?)  

 (A) Ýkal (France)   (B) baXyS.M (England) 

 (C) vesfjdk (America)  (D) tkiku (Japan) 

(Railway bilty is a instrument) :  

 (A) iw.kZ fofue; (Completely Negotiable )  

 (B) fofue; lk/; (Negotiable) 

 (C) vnZ~/k fofue; (Semi Negotiable) 

 (D) vfofue; lk/; (Non Negotiable) 

(The action of every business must be determined and planned. It is 

not proper to do any work in a chaolic manner". This statement is) :  

 (A) ,MoMZ cSuFkksy dk (Edward Benthol)  

 (B) ,eM fLeFk dk (Adam Smith) 



 (C) vYÝsM ek'kZy dk (Alfred Marshal) 

 (D) ts0ds0 esgrk dk (J.K. Mehta) 

(Which of the broad categories of industries covers oil refinery and 

sugar mills) :  

 (A) izkFkfed (Primary)   (B) f}rh;d (Secondary) 

 (C) rr̀h;d (Tertiary)  (D) buesa ls dksbZ ugha (None of these) 

("Who is called a share selling agent") :  

 (A) uhykeh ,tasV (Auction agent)  (B) vfHkxksid (Undercover) 

 (C) nyky (Broker)   (D) vkf<+fr;k (Arhtiya) 

(Which of these is the business activity) :  

 (A) eky dk Ø;&foØ; djuk (Purchase- sale of goods)  

 (B) eafnj esa iwtk djuk (Worship in the Temple) 

 (C) xzkgdksa ds lkFk /kks[kk djuk (Fraud with the customers) 

 (D) ljlksa ds rsy eas feykoV djuk (Adulteration in the mustard oil) 

 

(What is the main objective of Advertisement") :  

 (A) foØ; o`f) djuk (Increase in sale)  

 (B) foØsrkvksa dks lgk;rk nsuk (Supporting sellers) 

 (C) ykHk eassa of̀) djuk (Increase in profit) 

 (D) buesa ls lHkh (All of these) 



("Business like weather is with use every day" who said this out of 

the following) :  

 (A) gSus (Haney)    (B) ek'kZy (Marshal) 

 (C) ckVyhckW; (Batlibai) (D) ghyj (Wheeler) 

(Letter received in reply to the enquiry letter is called) :  

 (A) fu[kZ i= (Quotation Letter)  (B) vkns'k i= (Order Letter) 

 (C) lwpuk i= (Information Letter)  

 (D) O;kikfjd i= (Business Letter) 

(Which type of the business risk is the following chance of loss due to 

dishonesty of employee?) :  

 (A) ljdkjh uhfr;k¡ (Government policy)  (B) ekuoh; (Human) 

 (C) vkfFkZd (Economic)    (D) izkd`frd (Natural) 

(Where was the first super bazar started in India?) :  

 (A) dksydkrk esa (In Kolkata)  (B) eqEcbZ esa (In Mumbai) 

 (C) ubZ fnYyh eas (In New Delhi) (D) psUubZ esasa (In Chennai) 

(In which country did the multiple shop first start) :  

 (A) vesfjdk (America)    (B) Hkkjr (India) 

 (C) tkiku (Japan)   (D) Ýkal (France) 



(Chamber of commerce and industries safeguard the interest of __) :  

 (A) O;olk; (Business)  

 (B) O;olk; ,oa O;olk;h (Business and Businessmen) 

 (C) QqVdj O;kikjh (Retailer) 

 (D) buesa ls lHkh (All of these) 

(Risk is the result of _____________?) :  

 (A) fuf'prrk (Certainties)  

 (B) vfuf'prrk (Uncertainties) 

 (C) mijksDr nksuksa (Both) 

 (D) buesa ls dksbZ ugha (None of these) 

(Provides financial support to products?) :  

 (A) Fkksd O;kikjh (Wholesaler)  

 (B) QqVdj O;kikjh (Retailer) 

 (C) xzkgd (Customer) 

 (D) buesa ls dksbZ ugha (None of these) 

(The owner of warehouse is) :  

 (A) ,dkdh O;fDr (Individual)  (B) QeZ (Firm) 

 (C) dEiuh (Company)  (D) mijksDr lHkh (All of these) 

(Door to door or godwon to godwon facility is provided by) :  

 (A) jsy ifjogu (Rail Transport)  



 (B) ok;q ifjogu (Air Transport) 

 (C) lM+d ifjogu (Road Transport) 

 (D) buesa ls dksbZ ugha (None of these) 

(Which of the following storage houses are most popular in rural 

areas?) :  

 (A) cU/kd Hk.Mkjxg̀ (Bonded warehouse)  

 (B) [kfŸk;k¡ vFkok dksBs (Khattis or Kothas) 

 (C) 'khr Hk.Mkjx`g (Cold storage) 

 (D) ljdkjh Hk.Mkjxg̀ (Government warehouse) 

(When did the first train run is India?) :  

 (A) 1950  (B) 1850  (C) 1853  (D) 1757 

(The period of fire Insurance is) :  

 (A) ,d o"kZ (One year)   (B) nks o"kZ (Two year) 

 (C) rhu o"kZ (Three year) (D) vlhfer vof/k (Unlimited period) 

(Name the type of business risk caused due to change in season?) :  

 (A) ekuoh; (Human)    (B) izkd`frd (Natural) 

 (C) vkfFkZd (Economic)    (D) ljdkjh uhfr;k¡ (Government policies) 

(Invoice is prepared) :  

 (A) Øsrk }kjk (By purchaser)   (B) foØsrk }kjk (By seller) 

 (C) mRiknd }kjk (By Producer)  (D) miHkksDrk }kjk (By consumers) 



(Double insurance of o one property is known as) :  

 (A) iquchZek (Re-insurance)  (B) nksgjk chek (Double Insurance) 

 (C) nksuksaa (Both)   (D) buesa ls dksbZ ugha (None of these) 

(More useful for cold storage) :  

 (A) rS;kj eky (Finished goods)  (B) dPps eky (Raw material) 

 (C) 'kh?kz uk'koku oLrq,¡ (Perishable goods)  

 (D) bueas ls dksbZ ugha (None of these) 

(The essential for getting success in business is) :  

 (A) iw¡th (Capital)  

 (B) dq'ky O;olkf;d laxBu (Efficient Business Organisation) 

 (C) ;a= (Machinery)   (D) bZekunkjh (Honesty) 

(It is given factor) :  

 (A) deh'ku (Commission)  

 (B) osru (Salary) 

 (C) etnwjh (Wages) 

 (D) buesa ls lHkh (All of these) 

(Give more emphasis on consumer satisfaction) :  

 (A) mRiknd (Producer)  

 (B) QqVdj O;kikjh (Retailer) 

 (C) Fkksd O;kikjh (Wholesaler) 

 (D) Qsjh okys O;kikjh (Hauker) 



(Which of the price of automatic machine for sale) :  

 (A) dkj (Car)    (B) flxjsV (Cigarette) 

 (C) e'khu (Machine)  (D) buesa ls dksbZ ugha (None of these) 

(What are the things to be mentioned in sales statements)? :  

 (A) ,tsaV dk deh'ku (Agent commission)  

 (B) ,tasV ds gLrk{kj (Agents signature) 

 (C) eky cspus okys ,tsaV dk uke o irk (The name of address of the  

  agent selling the goods) 

 (D) buesa ls lHkh (All of these) 

(Bata shoes company is a) :  

 (A) foHkkxh; Hk.Mkj (Department store)  

 (B) miHkksDrk lgdkjh Hk.Mkj (Consumer co-operative store) 

 (C) J`a[kykc) nqdkusa (Chain shop's) 

 (D) buesa ls dksbZ ugha (None of these) 

(Which agent is appointed to sell goods by roaming in different 

cities?) :  

 (A) Ø; ,tsaV (Purchaser agent)  

 (B) foØ; ,tsaV (Sales agent) 

 (C) deh'ku ,tasV (commission agent) 

 (D) ;k=h ,tasV (Travel agent) 


